N = 0 &8 AF S 9 Al A
SN HEP HYXD
Bu: Fo0E 232y
ool gHUEXE PH2Y N CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
N3P HE X2 16,266,948 16,214,952 51,996
2 38,608
Al 16,228,340
FUOE D2 A 1,859,604 1,812,712 46,892
geEdie FE2Y N 203,315 202,926 389
2E AL =8 Y X 107,682 113,576 N5,894
201 Bt A H| 49,200 48,620 580
01 At 22l ] 16,640 16,060 580
OZ2FA BN ZULAE 1,140
OSsgE2AH(12) 700
=J|& 230,000& * 1Y€ = 23| 460
-z 120,000& * 1 x 23] 240
Ot AH1Z) 440
-J|& 120,000& * 1Y x 23] 240
-= 1 100,000 * 1H *23] 200
OHZEE L 28 RO 1,500& = 5000H 750
OEzE Y A2H HOIA 5,500 = 5000H 2,750
ORAZ &Y 70,000& x 5% = 103/ 3,500
OXNANE ZYULAI2(HAEARSFZAIALY)
500,000& = 23| 1,000
OXFJAZE 1=t 1,700
Oo=22= 120,000 * 5% = 23| 1,200
ogst=s 100,000& = 5H 500
OTLUANL AREX S|
7,0008 * 30¥ x 10¢ 2,100
OUZTHA E82 89 70,000& * 303 2,100
o0& 40,000& = 4004 1,600
02 3524 H| 32,560 32,560 0
O#HH AR EHl KXY 1,200
O1NE= A 15,000,000 * 8% 1,200
O0IS& AdilEg s 80,000& * 392" 31,360
203 IR = bl 12,000 12,000 0
03 Al =X H R =X Y| 12,000 12,000 0
OYHHOAMNA &L LdHMHPLR FA
12,000,000 12,000
206 M = Hl 7,966 7,966 0
01 24l 7,966 7,966 0
oL=ZIt2J] A 7,966
OJIZD| ME(2XE) 8,000 = 300H 2,400
OJt2 7] 4,000& * 1,000 4,000
OEH2IIS(HAUHE) 24,0008 * 4= » 604 576




SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O=J] Z0lt4 9,000& * 110 HE = 104 990
301 dEtE A= 27,216 33,690 NG,474
02 &stadsita 25,896 32,370 NG,474
O0IE&EXNEHE X2 647,400& * 20Y x 23] 25,896
09 HALAHIEA = 1,320 1,320 0
ONM&ER 0ISEESE 29
10,0003 * 119 = 63 660
OANEF FOUAXNXRAFE A &
10,000& * 11 = 63 660
307 QI2t0| ™ 11,300 11,300 0
05 A2t &= 11,300 11,300 0
O=dd JzJ| AL -2l & HEHA
,825,000& * 43| 11,300
REBSHA HHANH A FA 19,011 17,790 1,221
101 @1 21| 18,591 17,370 1,221
04 J|2tH 22 NHEE+ 18,591 17,370 1,221
OHIM o182 51,800& » 1Y = 26 * 12& 16,162
OMUEEZ 1,729
O=30d=82g=2 16,162,000& * 4.5% 728
O=20AAEHESLZ  16,162,000& * 3.06% 495
O&IRYBEHEEHZ 495,000& * 6.55% 33
OLnsEgEazgg=2 16,162,000& * 1.5% 243
OULTHHEAMESEZ  16,162,000& * 1.42% 230
OHIMNQE HYESIIHl 200,000& * 1H * 23] 400
OHIMNQEA =SXEE 300,000& * 14 300
201 LEt2 Y| 420 420 0
01 AR 22| bl 420 420 0
OEEEE &9 M
70,000 * 3 A x 23] 420
A =X B 26,890 20,400 6,490
201 LEt2AY| 14,400 14,400 0
01 AFR2t2ldl 14,400 14,400 0
ONFESSE TRIY 29 ALY
300,000 = 404 = 12& 14,400
206 M = Hl 1,500 0 1,500
01 X2t 1,500 0 1,500
OLIEIMlESEs EREI(AHABINL 2718)
1,500,000& 1,500
303 A2 6,000 6,000 0
01 ZAZ 6,000 6,000 0
OR+=323 & 100,000& + 10¥ = 63 6,000




2N

HE: 0O IHRY
Sl BeEXs PESY X8 CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 4,990 0 4,990
01 AL ESFH S 4,990 0 4,990
OLEIHd=S3 ERESE 4,990
A1 (BF=D1) 2,145,000& » 204 4,290
&1 (3004 0I3t) 700,000& * 1CH 700
AN ASIEH ME X2 49,732 51,160 N 1,428
307 glz2tol & 49,732 51,160 N 1,428
02 It MAHEE 49,732 51,160 N 1,428
OHS MOSXE=XE2A3 ASXRA
1,200,000& * 1100 2 13,200
O%s MOISRU4S MSXE
1,200,000& * 11002 13,200
OS Ht2AH&JI2&3 AR
1,360,000& * 9IH £ 12,240
OO0l HE2AHAIIAAS AMEXRA
1,292,000& * 1JH 2 1,292
Ost=TREEN HS23 AMPXH
600,000 * 8 A 4,800
OUSHEN NHIASAU AFS X
5,000,000 = 1JH A 5,000
HEYESANE JIsEH 168,850 165, 140 3,710
MERE Helold 299 168,850 165, 140 3,710
201 Let249] 250 3,100 22,850
02 =24l 250 3,100 A 2,850
ONEO0I=0lAIE HHaY B8
250,000& = 13l 250
206 M= Hl 3,000 3,000 0
01 =8l 3,000 3,000 0
(©ME=SNPY N EmE 500,000& * 63 3,000
307 glz2tol & 163,200 157,200 6,000
10 AL SXAIEEE2EHEX 163,200 157,200 6,000
O0gold 24Hl XA 163,200
O2%E 2,800,000& » 1H » 128 33,600
OEsud 2,300,000& * 49¥ * 123 110,400
Oxel& 1,600,000& * 1H * 123 19,200
405 XtAHE SHI 2,400 1,840 560
01 AR ESFH S 2,400 1,840 560
Oeold W& wi 400,000& = 6CH 2,400
& Jl= g8, SH,2AM gz2sE 57,838 57,288 550
TEE SEIIE FA 23,456 20,106 3,350
201 ¢er24| 16,730 13,880 2,850




SN NRT BT D
Hu: FooE nHed
Celt RE 1Y B SN, UA A2V (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 13,730 10,880 2,850
OAZE FFYREON RO 6,500
O&Jl HRE1DAM 22
10,000& » 502 23] 1,000
O#Al 42EDN 29
10,000& » 502 = 23] 1,000
Oz dHE MRZAM 72
10,000& = 1008 * 13 1,000
ORLNHRDAN R0
10,000& = 502 23] 1,000
OF2d: AMdAHEEN R
10,000& * 1008 = 13l 1,000
ONMEHEAM = 10,000& = 1008 =13l 1,000
OoRzy PHBIM R0
10,000& = 508 * 13| 500
OF3 Y2235 sxa H=
70,000& = 83l 560
OAZ WAd & AEZ 1,200
O el'Xl CH 250,000& = 43| 1,000
OsEgx 50,000& * 43 200
(OFSPNES= 800
OANBZ=ELEAA  100,0008 = 3Y = 23] 600
OJIMNEHLZ XS A A
100,000& = 29 « 13/ 200
OFFYRFZE SEHl  7,0008 » 4% « 65 1,820
CXANE AAME 350
OLZMZ(II2) 230,000& = 13l 230
OZAZ (=) 120,000& * 13| 120
o&3Z T2 OUF HIZ MH
5,000& = 5004 2,500
03 A2 Z Hl 3,000 3,000 0
ONRLFODE 2 3.000
O IE EE 2H3 1,000,000 * 13| 1,000
OHA3E E0M M 10,0002 *» 1002 1,000
Ooxg 35 1,000,000& * 12/ 1,000
202 04l 5,226 5,226 0
01 = LH YI 5,226 5,226 0
OFZFYRFT ¢l 20,000& = 4% = 35 2,800
OEH MXIEH H&X A&
75,8003 * 16 » 2 2,426
405 RHoHE S HI 1,500 1,000 500
02 = A=l 1,500 1,000 500
CO¥AEXNZA T AFHI 12,500& * 120&A 1,500
A2 EMlote REEER 28,238 31,238 A 3,000




SN HEP HYXD
Bu: Fo0E 232y
e A JIE 22, SH,2ZA A=A (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
201 Bt 28,238 31,238 A 3,000
01 AP 22| H| 28,238 31,238 A 3,000
07F J=2E L £ 2,830
oelg = 5,000& * 5000H 2,500
O AFE&I 4 T} 11,000& * 304 330
OHHBNE M2P=2 15,408
[OESIN| 15,000 = QI AL = 382 » 12€ 4,860
O X Xl 13,000& * QAL » 78 = 128 9,828
OF 2t 5,0008 * 400 AL » 38 * 12&€ 720
OAKEF EE= M & 10,0008 * 500& 5,000
OME R 2UHX = HMZ 2,000& * 2,5000H 5,000
SHAE 2ZAF =X 1,720 1,720 0
201 gEt2Ay| 280 280 0
01 AP 2t 2| H| 280 280 0
O2ANYR=A 2 Ed| 7,0008 * 5 » 8 280
202 04| 1,440 1,440 0
01 2Ll 1,440 1,440 0
OXHZANEE2=E |
20,000 * 5H x 8 800
ONSAF U FAUS ZTOIH
20,000 * 2 x 16 640
HEE SHIZA 4,424 4,224 200
101 Q124 4] 3,784 3,584 200
04 JI2ZtHIZ2 2 NEES 3,784 3,584 200
OSHXZAN gREX o2 3,417
OA S H = A 56,940& *~ 1 » 20& 1,139
OZ I H XS XA 56,940& x 18 » 20¢ 1,139
O AFE| R A} 56,940& *~ 1 » 20< 1,139
OEHZAN gREX B8 222 367
O30z 23
1,139,000& = 4.5% = 3H 154
O=0AH2UESEZ B2
1,139,000& = 3.06% * 3H 105
OIAESE = 2= 104,000& * 6.55% 7
Ons=y 23
1,139,000& * 1.5% = 3H 52
OAtATHO 22
1,139,000& * 1.42% » 3H 49
202 044 640 640 0
01 2L I 640 640 0
oA SHXZAF =& 0dd|
20,000 * 2 x 16Y 640
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SH HRT HEXAD
[u}

& ZOIOE I2Y
ool HHE FMBY T4 CERED
£ HH - (3 H) - HEMY - BdS Ol &F o4 %Ei Hns2
Zex 0a 90,0008 * 208 * 28l 360
~SET UE 205,0008 * 10 * 23| 410
L ES 50,0008 * 1CH * 23l 100
-S43 B8 105,0009! * 1CH = 23] 210
-sex 58 90,0008 * 4CH * 23l 720
-s2x A8 50,0008 * 7CH * 23] 700
OHBLME42(58 . 58,82, 541)
27,0008 * 16CH * 23| 864
OHIFLAMN(SS.58.82,541)
51,0008 * 22CH 1,122
OXFRXHI 102,736
ossx 4,908,008 + 6LH 29,448
oz 6,551,008 * 2Lk 13,102
Ostex 4,299,008 * 14CH 60, 186
202 01 bl 3,000 0 3,000
01 2ol bl 3,000 0 3,000
A3 AAET HZAL O] 3,000
onel 30,0002 * 5% * 103 1,500
oz 10,0002 * 5% * 303 1,500
405 XHHE S HI 33,000 0 33,000
01 ML SEHSH] 33,000 0 33,000
OXFTYHI 33,000
O (UH) 33,000,0002 * 1CH 33,000
SEX ZRM 22l 4,284 4,061 223
101 1218 3,280 3,057 223
04JIAH2ZRSES 3,280 3,057 223
OBRMA AEHEAN 212
56,0408 * 2% * 262 2,961
CpEEI=E 319
SEL-Ed=r 2,961,00080 * 4.5% 134
OABRELYD 2,961,0002 * 3.06% 91
oFIIQUTHLYD 91,0008 * 6.55% 6
ongeEsya 2,961,0008 * 1.5% 45
OHTHEE RS 2,961,008 * 1.42% 43
201 L2yl 364 364 0
01 AL 22l 364 364 0
OTRMY 2T ZH|
7,0008 * 28§ * 26 364
202 01t 640 640 0
01 2Uholdl 640 640 0
OZRMA X MEHEAN = Oft]
20,0008 * 2% * 162 640
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SH HRT HEXAD
[u}

Bu: Fo0E 232y
& HEE FAMEE XM (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSAIAHHAREZ (1EHAE)
25,000& = 13l 25
028 FH4 =) U=
40,000& = 123 480
OLSRERES 500 * 10,446m x 50% 2,612
O A& ZEHlI S X bl 71,898
OEMAES SXHI 4,080& = 17,622m’ 71,898
ONHAEZZE QoL "It 24|
1,200,000 =+ 13l 1,200
O A& AIAE(ESTH3) 0=
550,000& * 14 550
o=t RIMH
7223 * 204 + 150 2,166
OodlagdIl 7Xbl 1,280
O®&FHl 1,117& = 54 = 50 280
A2l 1,000,000& » 104 1,000
206 T2 HI 22,778 22,778 0
01 MHZ 4l 22,778 22,778 0
O&HAMZE ELAES 14,124
OFEEEXN 2 48
200,000& = 58 « 12& 12,000
oMrgIIAASE 1,770& = 10000 = 123 2,124
CaUstH 2elES 100,000& * 12& 1,200
QJIIHA RX E+EF 1,350
OIJAEH2 50,000& = 9& =« 33l 1,350
OAZAY 2218 2RI 7¢ 264
OXsAa Z2X 2| 6,000 * 204 » 12& 144
Og2 Xl 5,000& = 201 « 12& 120
OLrYUEHES 100,000& * 5& 500
oOde=+) 38 g&8x ¢
30,000& * 45 * 43| 480
o2 |A 4357 1,000
OFZH 3,500 * 14 = 200€ 700
o2 60,0002 * 53 300
OAM A AL X 100,000& * 53 500
OEMAHI 225 P 3,360
Oet®EIl 2 63 40,000% * 78 * 123 3,360
401 Al HI L ROl 152,323 143,908 8,415
01 A& HI 152,323 143,908 8,415
OAEEYY HI| HAE M2
4,000,000& =+ 13l 4,000
O&EAN Z=F 22 2,400& = 2,916m = 33| 20,996
OBMU HAogsm A=F7x= il
26,0683 = 657m’ 17,127




X{ XH -
S =

SM: A
Ial
g

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
OFAU AIRA RAH 8A M|
1,019& = 657 m 26,950
OFAN 25 U324 olH 2l ZAt
78,188& = 265m 20,720
FPRAWHAY Bi=8Z DS A
1,815,000& = 2CH 3,630
OFAU TUAY I
184,250& = 108m 19,900
OFo=sXw Ada Y F) 22aa 10,100
OagA 2 =) gl2dal ZA
9,250,000 = 14 9,250
OMblyl 82 X Z2AH 850,000& * 14 850
OFAU YA SHAE =HAH
377, 7773 = 45w 17,000
OJIAH A WSI|J| M= 35,000 * 340RT 11,900
405 KHo&HFE S HI 18,729 6,785 11,944
01 JHAHE 2 Z 5 = H 18,729 6,785 11,944
OFAMU HEIAZSAHA =40 OE &I+ 5,451
OAMZ2EU 660,000& = 34 1,980
OZINEOZE,HEHH ,HIMN) DHESEZE
220,000& *» BAMIE 1,320
O & EH(500%420%500) 165,000& * 34 495
O4Aal(200E) 495,000 * 204 990
OHI0I = (1200%450+450) 220,000 = 1JH 220
OHI0IE £2l(1200%450) 49,5003 * 14 50
O9| &t 132,000& * 3H 396
OFAMEEE =233 FA(EHA A28 ctod
) 440,000& * 12| 440
OFAMU T oa SHI=Sc2oE HE 2
2,366,000 * 1M E 2,366
OBMUW =X HtelHO0E WA (H1200 * L300
0) 1,309,000 = 8JH 10,472
23 Jletxd 2 g8 & 740,268 766,112 N 25,844
Aol #HHAHLEG 29 352,458 398,273 N45,815
201 et A | 188,458 169,948 18,510
01 At 22l bl 38,200 36,000 2,200
O"EB AZTEYH 2 38,200
Ost2A 20l A Neo 240,000 = 502 12,000
OMSQ Il A 2016 450,000€¢ * 50= 22,500
OgsEX 37,000& * 1002 3,700
02 35244l 150,258 133,948 16,310
OXAAY L ANAE SRANE$L 112,056
O3 .5 g2 AEH(42601)
3,155,000& = 12& 37,860




SN HEP HYXD
Hu: FooE nHed
el MEE JIBEY 2 BE KR (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O7&.,¢,8 dlold Z&lE(21000)
559,000& = 12& 6,708
Od,s8 LAUALZII(19TH)
4,426,000& ~ 123 53,112
Od,8 SEUALSII(17H)
1,130,000& * 12&8 13,560
O, s HEHJII=S tHEa D Ful(20)
68,000& » 12& 816
OLAZEAHEAZ XU 1,932
OotEAA 38,000& = 123 456
OLZEYA 123,000& * 128 1,476
OBHAIS/W AHE R RIHI (201 A) 36,270
OPCE g4l T2 28,000& * 5002 14,000
OAMBIE el 228 440,000& = 8= 3,520
OUPCXIZIO0l MIOIME Z20H
30,000& = 1002 3,000
OPCE H3EESdSsEZ I
35,000& * 4502 15,750
405 XtAtE SHI 164,000 228,325 A 64,325
01 AL EFH S 164,000 228,325 AB4,325
O3 % H SF0MH HEAREH LA 112,000
ogeE FFH 1,400,000 = 60CH 84,000
Ocllold Z2Id 600,000& = 20CH 12,000
OsSgALZIN (=&Y LUAHM)
8,000,000& =« 2CH 16,000
ORoUALZI(=FAH )
25,000,000& =« 2CH 50,000
OZectZ el E (A4) 1,000,000 * 2CH 2,000
FEBSH JIEANE 29 387,810 367,839 19,971
201 L2l 269,917 247,314 22,603
01 At 22l 2,000 2,000 0
OMEXZA SEEEH &8
200,000& = 10CH 2,000
02 =224l 267,917 245,314 22,603
OSHMEIH MEZ 134,520
O=tEEsS4Y AIE= 109,800
- oAl 1,500,000& » 13/ & » 123 18,000
-Heod 1,200,000& » 23| « 123 28,800
s = 550,000& * 93l & * 128 59,400
-HF M AB M
300,000& » 13l » 12& 3,600
OFSE=J-IFaRN == 18,720
N LTSI
130,000& » 63/ » 123 9,360




M HET BN
u. F00E 1R
CHel BEs JWIEs W 28 A CRED
S B G(SA) - NRANY - BES il 2
-Feod, S I8
30,000& = 263l « 123 9,360
ONeR oAslgss
500,000& = 1&l& =128 6,000
OdHFH3 AHEZ 3,500,000 = 12& 42,000
OgBtds B E 7,000& * 83l& * 128 672
OFALYS SHE(HEHA)
20,0003 = 1314 + 128 240
OUHUWIH 2H AER
33,000& » 162l « 123 6,336
OZESHFH FX2e 84,149
ONEEESAEH 2,676,500& « 123 32,118
OdHE ™3t WED| 1,737,900& = 12& 20,855
og=gsl 122,000& » 128 1,464
OSEEEIEX 287,000& * 123 3,444
OANEHB A SFEEHI 360,000 * 123 4,320
OHE LS EHHI 721,000& * 123 8,652
OCCTVZ HI 900,000& * 123 10,800
OZAMESTI 208,000& = 123 2,496
202 O4dl 1,600 1,600 0
01 = LH 4 Hi 1,600 1,600 0
OZESUIAM AFEXZ AL FX 0L
20,0003 = 28 40 1,600
206 M= Hl 4,600 3,000 1,600
01 =8l 4,600 3,000 1,600
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| | | Og2re 33,0008 * 1M 33
HH2IAZH(ME 7 SHFXAL) 13,983,877 14,051, 165 AB7,288
= 38,608
Al 13,945,269
el 2l 13,491,512 13,545,143 A 53,631
= 38,608
Al 13,452,904
ol | 11,341,996 11,463,254 A 121,258
101 @124 dl 11,341,996 11,463,254 A 121,258
01 2= 10,019,733 9,517,018 502,715
oJ122 7,039,529
OJleg(¢sSH) 661,891
-4= 81,859,000& » 1H 81,859
-52 72,504,000 » 8H 580,032
OoJlzs(sEH) 6,377,638
-6 3,731,400& » 68H » 12&8 3,044,823
-2 2,989,700& » 47H 128 1,686,191
-8 2,045,800& » 52H » 12& 1,276,580
-92 1,623,000& » 19% » 12& 370,044
o=¢ 1,791,207
Oozxzuze=4 677,360
“A 2R
9,649 = 1959 = 30AI2t = 128 677,360
OSSR+ 70,240
—LEHASS R
3,731,400% * 20 * 4.1% = 12& 36,717
-LEHAES U R
2,989,700& * 18 » 4.1% * 128 26,477
—LEHATS R
2,045,800% * 798 x 4.1% = 123 7,046
OFSE=El=y
6,377,638,000& * 1/12 = 50% * 23| 531,470
(OFSFms ot =) P = 173,160
-25F 0] & 130,000& * 60 » 12& 93,600
-20@ 0] &f~25 0] 8t
110,000& » 359 = 12E 46,200
—-15E 0l & ~20 0] 8t
80,000& = 10 = 12& 9,600
-10¥ 0l &f~15E& O] €t
60,000& = 13% = 12& 9,360
-5 0] &~10E 0] 2t
50,000& = 24% = 12& 14,400
OPIE=Eal=s 129,360
—tH < Xt 40,000 = 11998 » 12& 57,120
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-JIEILE 20,000 = 2589 = 12& 61,920
-AMXAEHILAE 30,0003 * 10H « 123 3,600
AWM XEH IS (2011.12.3101 F)
80,000& = 7& = 128 6,720
OoOXtdstglI x4 55,537
-1 SshH 433,880 * 32H * 43| 55,537
(OF= JU R =ESE =4 500,000& = 109 = 12& 60,000
OfIg2f+< 3,840
=3 50,000& = 4H = 123 2,400
-85 40,000& * 3Y =+ 128 1,440
OS¢+ 90,240
e384 25,800
52 50,0003 = 3H » 123 1,800
6~72 30,000 = 44% = 128 15,840
- 8= 0I5t 20,0003 = 349 » 123 8,160
-Jls=3E03 20,880
- JIE A 50,000& = 1H =123l 600
- JIsE - JIAE 30,0008 * 47H * 12&8 16,920
- A OIIA 20,000 = 14% = 12& 3,360
ARG 30,000& = 11¥ « 12& 3,960
—HAg R 50,000 = 2% = 12& 1,200
“ALEI S XY
70,000& * 2794 » 12& 22,680
“ALSI S XY R Oteks
30,000& * 2794 = 12& 9,720
-Hd==g 250,000& = 28 « 123 6,000
OFUZ A 130,000& » 195 * 12& 304,200
OgE=Jthl
6,377,638,000& * 1/12 x 60% * 23] 637,764
O It & | 247,033
OsEH
6,377,638,000& = 86% * 1/12 = 1/30 = 15 228,533
2
ool =R
661,891,000& * 1/12 = 78% = 86% * 1/30 18,500
* 15¢
02 JIEt A 2+ 785,823 781,880 3,943
oJl2s3(#azdz) 466,798
O304 0l & 3,702,000& » 2% » 1228 88,848
0234014 304 0] et
3,385,500% * 4¥ * 123 162,504
O1548 0l & 234 0] et
2,992,300& » 6% » 128 215,446
O+2(H3aZF) 162,911
Oxzz =< 89,164
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NFIEES=EN=
8,883% * 12 » 30AI2t » 123 38,375
EEL RS
2,961% * 3" » 8AIZH » 365¢ 25,939
~HUTR4Y 71,407 * 3Y * 1162 24,850
o¥2+g
466,798,000& * 1/12 = 50% » 23| 38,900
(OFSFmE ot =) P\ = 16,920
-254@ 0] & 130,000& * 6 = 12& 9,360
-20 0] &t ~25 0 2t
110,000& » 5% = 12& 6,600
—-15@ 0] &~20 0] 8t
80,000& = 1% = 12& 960
OfEs=E 12,000
—bH < Xt 40,000& = 159H « 12& 7,200
-JIEHHS 20,000& * 20 » 12& 4,800
OXtHstHIEx+Y 5,207
-NSsHM 433,880 * 3H =+ 43| 5,207
OS2 (&) 30,0008 * 2% « 12&€ 720
OFUZAH(HAZZF)
130,000& » 12% » 128 18,720
OYESIIH(EAZZF)
466,798,000 * 1/12 * 60% * 23l 46,680
OB A (HAGZ)

466,798,000% » 86% * 1/12 = 1/30 * 152 16,727
OLNELEH(EAZEHE) 819,039,000& * 1.5% 12,286
OUALE =532 2=+ 61,701

OJles 1,346,4002 * 80% * 4% * 12& 51,702
OxzH2Zf+E
7,830 * 4H x 10AI2F » 123 3,759
OFHZ A 130,000& * 48 = 123 6,240
03 RIAHAZ 2 E =+ 536,440 1,164,356 A627,916
O& At2el 106,158
oJles(t2) 64,525

-154 Xt 1,961, 110& » 1H » 128 23,534

-114 Xt 1,835,690% * 1¥ * 123 22,029

-43 Xt 1,580, 140& » 1H » 128 18,962

o=¢ 10,198
-IExg 1,680
i < Xt 40,000% * 28 * 123 960
JIERILS 20,0003 = 3H » 123 720
—HEAZ2Z2aE 5,291

158 Xt
15,790& = 10AI2t = 1H = 128 1,895
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- 11@xt
14,9703 = 10AI2F = 18 « 123 1,797
44 3t
13,3203 = 10AI2F = 1H « 123 1,599
25 3,227
158 Xt 98,050& * 128 » 1H 1,177
114 Xt 91,780& = 128 ~ 18 1,102
43 Xt 79,0004 = 128 » 1H 948
OgtEAZ 4,707
-1549 Xt
2,559,160% / 243 = 8AI2t » 20 1,686
-1E Xt
2,427,470 / 243 = 8AI2t » 20 1,599
-4EA X 2,159,140 / 243 = 8AI2F » 20 1,422
OZFE=FItHI 6,992
-154@ Xt 1,961,110% * 65% = 1H » 23] 2,550
-1E X 1,835,690& » 65% » 1 * 23] 2,387
-43 Xt 1,580, 1402 » 65% » 1% * 23| 2,055
O=&tl 150,000& * 3 = 128 5,400
Oun st 150,000& » 3Y¥ = 12& 5,400
OJHAIXI & bl 150,000& = 3H = 123 5,400
O&¥d=+< 50,000& = 3¥ » 12& 1,800
OXNHEH EEY 1,736
-nsed 433,880% * 198 « 43| 1,736
O S A 34,753
oJ1ez300t2) 20,891
-5 Xt 1,740,840% * 1¥ * 123 20,891
Oo=¢ 3,748
- s 960
il < Xt 40,0003 * 1H « 123 480
JIELE 20,000& = 2% = 12& 480
—HEZEsE
14,5203 = 10AI2t = 1H = 128 1,743
25 87,0404 * 18 » 123 1,045
OgItEAS 1,550
-5E X 2,352,880 / 243 x 8AIZ2F x 20 1,550
OZ 2 Ftyl
1,740,840 = 65% » 1% * 23] 2,264
O= &l 150,000& = 1H = 123 1,800
Oul SH| 150,000& = 1F = 12& 1,800
OJHAIXI & bl 175,000& = 1H » 123 2,100
O&d=¢ 50,000 = 1% = 12& 600
o=l 540
OFAOISA 225 90,0008 * 3Y * 23 540
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chel: ol gyl CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O=0=ZRE3 3,698,231,000& * 4.5% 166,421
CL=EEE=RES 3,698,231,000& = 1.5% 55,474
OdAETHEE 2 3,698,231,000& * 1.42% 52,515
CHLEBERES 3,698,231,000& * 3.06% 113,166
OFILYEZEHEES  113,166,000& = 6.55% 7,413
=l 341,700 335,220 6,480
204 AR A H| 341,700 335,220 6,480
02 a2 =4 341,700 335,220 6,480
O4= 400,000& » 1Y 128 4,800
055 250,000& = 8% = 128 24,000
©f=1 155,000& » 68  12& 126,480
OFg= 140,000& * 478 » 123 78,960
08~92 105,000& » 7198 = 128 89,460
oz2ZE 18,000
OFE:! 155,000& » 29 = 12& 3,720
OZ M 140,000& * 49 = 12 6,720
o2, =& 105,000& » 6 = 128 7,560
Z4A0IA 1,769,208 1,702,790 66,418
303 T4 3 1,138,718 1,241,734 £103,016
02 dta0i= 1,138,718 1,241,734 A 103,016
CRR-1ES 1,095,929
o+ 582,338,900& = 110% 640,573
og - s=x24dH 413,959,900 * 110% 455,356
oxazz 38,899,000& = 110% 42,789
304 H=RESS 630,490 461,056 169,434
02 =222 2E= 630,490 461,056 169,434
CHLEEH=RES 591,731
ogeHs 18,518,538,000& * 3.06% 566,668
OEJZZE 819,039,000& = 3.06% 25,063
oO¥IRLEZEIRES 38,759
(@F=R-1E5] 566,668,0002 * 6.55% 37,117
OFAZE 25,063,000& * 6.55% 1,642
CIAHI(DIZE2HSEMR X2AY) 38,608 43,879 A5, 271
= 38,608
101 1Al 38,608 43,879 A5, 271
= 38,608
01 2= 38,608 43,879 A5,271
OIS HESEAR 22| 38,608
o7s 3,217,330& * 1€ » 123 38,608
= 38,608
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Jl =23t 492,365 506, 022 AN 13,657
Jl23Hl 492,365 506,022 AN 13,657
201 LEr2 Y| 188,032 186,609 1,423
01 At 22l Yl 180,740 179,736 1,004
OJlegsa A 15,000, 000& 15,000
OY=E At 145,200
(@3N 60,000& » 58 x 119 35,700
o= 60,000 * 59 * 365! 109,500
OYAA ME == 50,000& = 24 = 63 600
OYAA HaAxE 2 260
Obl &Rz 100,000& = 204 A 200
oo =2et 30,000& * 204 A 60
o=gd(JIE&yl)
7,000& * 30 * 6L * 128 15,120
OFA ROFHAIAE & 380,000& * 12& 4,560
02 352494l 7,292 6,873 419
OYRFd 2ERZ 5,058
OgutH 2704 + 1,000 * 128 3,240
OosJI2H 1,930& * 708 * 12& 1,622
Oets= 1,630& * 108 * 12& 196
OM=RPA A=%D X
34,900 * 4044 x 128 1,676
OX1D I KA
46,500 * 104 + 128 558
202 04| 32,400 31,320 1,080
01 2LH O HI 32,400 31,320 1,080
OJ|IEZHI 32,400,000& 32,400
203 &R =X Y| 37,450 37,030 420
01 J|22HLRF=AH| 26,400 26,400 0
QI EH (L) 26,400,000 26,400
02 HRJAE R =XY| 6,850 6,430 420
© 1004 40,000& + 1009 4,000
©101~400™ 30,000 * 959 2,850
04 ENSI IR =Y 4,200 4,200 0
©J|l= (3002 0lat) 350,000& « 12& 4,200
204 X R =S AH| 166,080 164,280 1,800
01 XS RHFH| 14,400 14,400 0
OXNHZHRFAHI 14,400
O43 0|2t & 400,000 » 1€ = 12& 4,800
O8I 100,000& * 8Y x 12& 9,600
03 SEYRAHI 151,680 149,880 1,800
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ool g syl 118,800
O63 0l 6t 50,000& * 186Y = 111,600
OFAZZ 50,000& *» 129 « 7,200
OZANTRE 80,000& *» 3Y =« 2,880
ONMRERY 100,000 * 25 « 30,000

307 QI2t01 ™ 66,703 63,443 3,260

07 d=X==2 66,703 63,443 3,260
222 Mol=2 & 66,703
OMEE= 3,191,500 * 3.9 = 13 12,447
OMYERAZ 3,191,500& * 174 54,256

405 XtabF SHI 1,700 23,340 N 21,640

01 AL B F SHI 1,700 23,340 A 21,640
OHA (3004 Oldt) 700,000& * 1CH 700
OZ2 A M D] 1,000,000& = 1CH 1,000
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SRl AQIBS SIRHINH A P EERED
= - = s
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
A&7 QT X A 468,716 379,426 89,290
2 59,075
Al 409,641
S FSE F= U2EY FE 88,678 95,733 AT,055
= 59,075
Al 29,603
AQIets QI A A 2E 54,718 62,671 AT,953
= 25,115
Al 29,603
BEE QA 2 7,484 15,396 AT,912
201 2Bt Yl 2,244 1,196 1,048
01 AtR 22l | 696 1,196 A500
oo =3I 696
O&z2tX 11,0008 » 3% » 12& 396
Ostz 100,000& =+ 35 300
02 s3=gHl 1,548 0 1,548
OF=+Jl KX 34,500% = 200 ~ 128 828
O==2 22/ 60,000& = 104 ~ 128 720
401 AlEHIZ 208 3,500 5,455 A 1,955
01 A€ dl 3,500 5,455 A 1,955
ool QEz2I0 BE RE TA
3,500,000& = 14 3,500
405 TtatFH S 1,740 8,745 AT7,005
01 H&HESHSH 1,740 8,745 A7,005
oYL A 41 500,000 = 1CH 500
QIEZAUAE =8HUIIHE
1,240,000& = 1CH 1,240
nA40tx QAR 22,119 22,744 A625
201 2etE Sl 21,519 22,144 A625
01 At 22l I 20,399 21,024 A625
ouEge = 11,310
O=AMEX 21,0008 = 202tA « 123 5,040
oged=gX 80,0003 » 5% A 400
Ox2sE sx== 84X 28,0008 = 102fA 280
OouzlelZd=8EN =2
90,0003 » 194 A 90
OozZegd &Y 220,000& * 2CH * 62 2,640
OFXN=AMI EUY 260,000% » 2CH * 43 2,080
OZAMAEI EYH 70,0008 = 20H » 43| 560
OelsI 23 22,000& * 107H 220
ORloALZII 2,264
O=s At 2 Xl 52,000& » 8% A 416
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ANBIBHE QIS F A A 78 SR CED
SN HH-S(BN) - MBAY - B il HlnE2
OoaYzIIEY 330,000& * 404 1,320
OEEY 132,000 * 4MIE 528
OsMAMIX FoIE AE
3,000& = 2,000 6,000
Oz & MNHAZ 2aM 165& * 5,000% 825
02 22224l 1,120 1,120 0
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1,200,000& * 1CH 1,200
OEOIH Fel =Y TV 2L (5021X1)
1,200,000& * 1CH 1,200
O8EH Hdsel HEs 22 TV 2 (502 X
) 1,200,000& * 1CH 1,200
OEH Hd=el Mg 22 WD 2(60
0¢ ) 1,200,000& * 1CH 1,200
OEH iS22 Z2Y M2 FL(1BEEH)
1,500,000& * 1CH 1,500
O8TH s2c 22Y H&ED 2(6004 )
1,200,000& * 1CH 1,200
OEH Mis22 22 TV 2L (502!X1)
1,200,000& * 1CH 1,200
OBEH AlS22 Z2Y M2 FL(1BEEH)
1,500,000& * 1CH 1,500
OsTH AlS2el Z22Y HWE D F22(6004 )
1,200,000& * 1CH 1,200
OEH =812 A2 TV 2L (502!X)
1,200,000& * 1CH 1,200




A MEF F2=2X
Bu: AYSD BIIE LEME B
ool ARYSY B (S &2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
O8TH =2 HA2Y TV 2 (5002 Xl)
1,200,000& = 1CH 1,200
OPEE PYNUNHONELRS WxD 2
21 (6004 ) 1,200,000 = 1CH 1,200
ORIEs F27HIX OlIIE FA2YE TV 22 (50
oI xl) 1,200,000 = 1CH 1,200
ORI =24-1C¢X OtODIE B2Y TV 22 (5
0QIXl) 1,200,000& = 1CH 1,200
O=22= SXMIOIME HZ2Y TV 22 (500!
xl) 1,200,000 = 1CH 1,200
O+T2E PEM AR 001 PA(BEE)
1,500,000& = 1CH 1,500
ONESMAZTEES PEAZSHAIOIIHIOIIIE
A2E TV 22 (500! Xl) 1,200,000& = 1CH 1,200
OGS MAZTEES PEASHAIOIIHIOIIIE
A2 WD P2(6004 ) 1,200,000 = 1CH 1,200
O3 =ES JIEF=33HA Ot E Bz
oz 2 (18EH) 1,500,000& = 1CH 1,500
ONSMAZTSES PEASHAIOBEX OIIIE
A2 WD P2(6004 ) 1,200,000 = 1CH 1,200
ONSMANZTSE S FASHE2X OIIIE H2E
oz 2 (18EYH) 1,500,000& = 1CH 1,500
OGNS S FASHEIX OIIIE H2E
WAED P22(6004 ) 1,200,000& * 1CH 1,200
OdSMAFTSEES Hat=S 1K OIIE H=2Y
o2 2 (8EY) 800,000& = 1CH 800
ONdSMAFES HAFE OIIE H2E TV
221 (5001 XI) 1,200,000& = 1CH 1,200
ONSMAZTES PEASHAIOBEX OIIIE
A2E TV 22 (500! Xl) 1,200,000& = 1CH 1,200
O8NS H3EHAIOBHX OLIIE &
2 TV 2 (500 XI) 1,200,000& = 1CH 1,200
ONSMANZTES FRNEZ2X OIIIE H2E
WAD P22(6004 ) 1,200,000& * 1CH 1,200
ONdSMAFTES Hal=328HX OIIE =2
WX 7 (6002 ) 1,200,00020 * 1CH 1,200
OMBMUZYS NHAEB4S OIE A2
TV (5001 XI) 1,200,000& = 104 1,200
ONSMAFTES HAF=SIHI OIIE B2
A ol(1smd) 1,500,000& * 1CH 1,500
OHSMA =SS SANHZ2X OIHE B2
oz 2 (18EH) 1,500,000& * 1CH 1,500
405 XHA&HF S HI 25,700 8,400 17,300
01 XML 2 ZF S| 25,700 8,400 17,300
OH0H B2od2e 32 oo 2 (18E
o) 1,500,000& * 1CH 1,500
OH0lH BE2od22] H2E HAD 221(600
2) 1,200,000& = 104 1,200




SH: HRT Fo=XD
M AYSD BIIH LSME P
ool ARYSY B CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OY0lH 2god2e d=2¢ TV 2 (500 Xl)
1,200,000& = 1CH 1,200
OH0lH 222d3e =2 oz 2 (18E
=l 1,500,000& = 1CH 1,500
22232 H2Y WA 22(600
1,200,000 = 1CH 1,200
22232 A2Y TV 2 (5002!Xl)
1,200,000& = 1CH 1,200
23 2 A L (EAEE)
800,000  1CH 800
23 B2 TV 2 (5001X)
1,200,000 = 1CH 1,200
s HLA2Y A R (18HY)
1,500,000& = 1CH 1,500
ORES HHEIZE2YE TV 22 (5021 XI)
1,200,000& = 2CH 2,400
OZ=E= HIEIZE2Y A P (18EH)
1,500,000& = 1CH 1,500
OR=s HESFR2Y TV 2 (509 XI)
1,200,000 = 1CH 1,200
ol s F2Y oA FU(18EH)
1,500,000 = 1CH 1,500
oNds Hz® HaD 22(6004 )
1,200,000& = 104 1,200
Odtds B2 TV 22 (5001 K1)
1,200,000& = 104 1,200
O=2"Hs A4 Z2Y oA P(18EH)
1,500,000& = 1CH 1,500
O421= MEY F2Y TV 2 (5001 X|)
1,200,000 = 2CH 2,400
O421= MEY ZF2Y A 2 (18HH)
1,500,000& = 1CH 1,500
224 23 & OFsS=2X sS4 3,057,461 3,352,651 A 295,190
St BEAIY J|etX N 7,770 1,550 6,220
2lold |E L SAMI D= 3,770 1,550 2,220
01 LBt A Y| 1,450 1,550 A 100
01 AP 2t 2] H| 1,450 1,550 A 100
ONHE 0l SAIAN = 1,450
Oun= W 5,000& = 2308 1,150
OLA =& 230,000& = 1H4 230
Osl 49t 70,000 = 10H 70
202 o4 | 2,320 0 2,320
01 2Ll 2,320 0 2,320
ONelold NEEH 82 =& o4l
20,000 x 2¥ x 583 2,320




FN: MER F2UST
Hu: 289 T2 LH Y OS=X Y
CHol: A[B HRAIY JIBEA ECR-E)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ESANE 3018t =4 4,000 0 4,000
206 M= Hl 4,000 0 4,000
01 M= 4l 4,000 0 4,000
OO0 0lE oldu=s 2 (M & HR HEMAX
) 4,000
Oog=2 3 ME(2E) 1,800,000& 1,800
Oole= w3 HME(AE) 500,000& 500
OeE=2 3 HME(OSARL)
1,200,000 1,200
Ood=2 82 HH(=8) 500,000& 500
222 Nl & 334 235t 3,049,691 3,351,101 A 301,410
AW 282 X 2,268,000 2,466,000 A 198,000
301 gtEd= 2,268,000 2,466,000 198,000
01 MI2ZE 6= 2,268,000 2,466,000 A 198,000
OXNMAH Ots2=Hl XA 2,268,000
OAMIH Ots2=Hl K&
150,000& = 1,260 * 12& 2,268,000
0gl0ld Oots2tAaldl XI& 714,875 825,000 A 110,125
307 g1+l & 714,875 825,000 A 110,125
11T M Z2XASE EX 714,875 825,000 A 110,125
E]0ts 2tAldl K&
500& * 5,7198 = 250 714,875
HE dAS0ts NE 66,816 60,101 6,715
301 gEtE L= 66,816 0 66,816
01 MEI2EZE +05l= 66,816 0 66,816
O"8E MAS Ol ERAE 288 Y 66,816
OBH3Al Ot= 51,0008 = 49% = 128 29,988
OgHAI Ots 33,000& * 449 » 12& 17,424
OBeH5AI Ot 33,000& = 49 = 12& 19,404
ANAF0i9 X5 14,803 13,245 1,558
MASS MEME &2 14,803 13,245 1,558
one-stop S & =X MBlA HS3 11,253 11,245 8
201 LBt 11,253 11,245 8
01 At 22l 4,450 7,000 A 2,550
O=SXNHa EF/20 ¢t 258 SEMA
1,000& * 6000H 600
OSXIHA Z AL, 22l At &2l HRFE I
=l 7,000& * 109 » 55¢ 3,850
02 2324l 6,803 4,245 2,558
oORERS 6,803




SH: HER Fo=XD
Ha: X AxE0lo 2XEX
MASS MEoy &2 )
- _ _ RE]
CEE O (BA) - HRAY - BAS %@ﬁ
Ogst 270 « 11,040 2,981
OED 1,930 = 1,980= 3,822
SIA=EXAE L At 22l 3,550 2,000 1,550
201 et d| 2,500 2,000 500
01 AP 2t 2| H| 2,500 2,000 500
ogu=x AN ¥ 2,500
OZAFIH M &+ 100,000 = 1004 1,000
O848t M 70,000& = 1504 1,050
odgE M 50,000 = 9JH 450
301 et A= 1,050 0 1,050
09 HAIAHI BEAZ 1,050 0 1,050
ogu=x E4X =24
7,000& * 150¥ * 13| 1,050
HMSHAY (MR =02 85,414 87,121 AN1,707
pICECE] 85,414 87,121 A1,707
Jl2 &l 85,414 87,121 N 1,707
201 Yet2 2t 48,674 44,931 3,743
01 AP 22| H| 28,112 28,112 0
OJ|=dH (SH|) 14,112,000 14,112
OJl2g R AH| 14,000,000& 14,000
02 2224 4| 20,562 16,819 3,743
O=XgY 22V ALS SUE A8
50,000 * 404 = 12&€ 2,400
oRHER2 16,633
oYLt 2702 * 18,000= 4,860
[Or=pl 1,930€ * 6,100 11,773
O™ XS A & X b 3,987,000& * 2CH * 6% 479
o4dLteEr)l 8 XYl 2,500,000 * 3CH * 6% 450
O&FLD| X 50,000& = 12& 600
202 044 30,240 30,240 0
01 2L I 30,240 30,240 0
OJl&=Z& | 30,240,000 30,240
203 &R =AY 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
©J| =M (30210]5t) 350,000 = 12& 4,200
405 XHAHE S HI 2,300 7,750 5,450
01 XAt 2B F S| 2,300 7,750 AN5,450
Oatg Al Hol= 250,000& = 22X 500
OAE Al OXt 150,000& = 12=% 1,800
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2N NER SELFHD
M MANY T4 Y 22
ool MEXE S8 2 25 CER-ED
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
Odl=se MOl KXl 1,000,000 = 14! 1,000
206 M = dl 45,000 39,400 5,600
01 X2 bl 45,000 39,400 5,600
oYz HE 2 4,500& * 10,0004 45,000
NPNESE=Xei Il 1,920 1,920 0]
202 044l 1,920 1,920 0
01 2L Y| 1,920 1,920 0
ORI Ad2ZEot2HE S& oyl
20,000 * 2 = 48 1,920
24 2 116,450 113,062 3,388
201 et 2,686 2,773 N 87
01 AP 2t 2] H| 1,100 1,100 0
OXHIURZ(II22 0]4l)
550,000€ * 1CH = 23] 1,100
02 2324 1,586 1,673 N87
OJtz 4 22| &Hl =8| 200,000 * 504 1,000
Otz 22 &l 586
O¢H2HI(ER) 1, 1173 « 4L » 708 *~ 15 470
(@41 5,5008 x 0.2L = 7CH = 15 116
401 AlEHIZL 2 0HY| 113,764 110,289 3,475
01 Al&H| 112,950 109, 500 3,450
OHSUR It ZIHX M AHAY
25,100 = 1,500= 37,650
OHEIMIZIOIN S JIZ2% Z2IFXNHHALY
25,100 = 3,000= 75,300
03 AlIE 20| 814 789 25
OI24 EIIXNMAAY =&
112,950,000 = 0.72% 814
22 =X &2 1,818,693 1,427,467 391,226
ANSE L =sKAIAE2e 1,818,693 1,427,467 391,226
el =23 22 961,346 773,115 188,231
201 gBt24 | 270,550 179,770 90,780
01 AP 2t 2| H| 18,350 20,770 N2,420
OZE FIINL HHAG 42 14,500
o288 70,000& = 700H 4,900
Os=F 15,0009 * 64074 9,600
O*FANE +BAUMN 248
30,000 « 8IHA = 23] = 5& 2,400
O=d3& HXE HA HH =22
250,000 * 1A 250




SN HRT SEMSHD
2=

u: BA=T 2
?2: TASE ¥ sXAE2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OdAZ=2H HHIO0lE(est)
600,000& * 24l 1,200
02 =224l 202,200 159,000 43,200
oXMIILRBIEE)
120,000& = 7004 * 1200 & 100,800
OZVE RUEYI| SHRS
5,000& * 70004 * 12042 4,200
Oust4+E 23
3,000& * 100& = 27H2 * 1204 & 97,200
03 A2 Z Hl 50,000 0 50,000
OZ23U Ss0lA4 2els8d(1HA)
50,000,000& 50,000
206 M= Hl 37,450 30,360 7,090
01 =8l 37,450 30,360 7,090
OZYS 2HE FY(LSTHLAI| YIF)
6,000,000& = 2&H 12,000
O3 A4 22/ES 250,000& » 168 * 43| 16,000
OZANZS& st&Ea HAXM 8,490
Ost&EX 33,000& * 1508f A 4,950
oM g JlS=(100L) 1,770& * 2,000 3,540
OZANZS& st&H 22ES 960
OstEXHOA 9 15
20,0003 * 2& = 243 960
305 a2 S 2,000 1,500 500
01 Hia=E 2,000 1,500 500
O33L O 1,000,000& » 2A 2,000
307 21201 A 335,000 377,574 ANA2,574
05 RIZt2IEt = 335,000 377,574 AN42,574
Ox=ZAE H2EA(BMHLA) 84,000
OMZ2ZHR 7THA(HE, AR, 2EX, 2=
) 84,000,000& * 14 84,000
O3% ¥ A S (160HL)
251,000,000& * 14! 251,000
401 Al HI K 201 Y] 316,346 183,911 132,435
01 A& HI 314,082 182,596 131,486
OZEI& W sXAE AHZ2el 61,482
O=sXAE AZE2el (M) 30,741
—QlE M = 930& = 5,895m x 13| 5,483
Il A H = 3203 = 45,000m = 13 14,400
—Ot M A X 500& = 18,450m = 13| 9,225
L= FSPN 1,950& = 837m = 13| 1,633
O=XAE AE2el(HR2) 30,741
-QlEH = 930& * 5,895m x 13 5,483




SN HRT SEMSHD
=

Ha: D=L
SRl TAZEE & sNAE2e (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=J1AH = 320 * 45,000m x 13 14,400
—t NI AT 500& = 18,450m" = 13| 9,225
=8 AR 1,950& = 837m 13| 1,633
022328 W A2 fX22(20044)
1,500,000 = 200H & 30,000
O=dS & ZSJAANHIANEZ KRR 2eE
250,000& = 4003 100,000
OZelEd W 2sAd=2 € =0AME2 =A
22| 800,000& « 12& 9,600
OHLZH HILB2AL
25,000,000 = 1004 25,000
Ox=d A& RAE= 30,000
OkLE, 2H, =/ZXI, ISLEF S
30,000,000& * 14 30,000
os4a S¢2 FEEX AR A 04
3,000,000& = 14 3,000
QM ==X E XA X 15,000,000& = 1JH A 15,000
OAXBBAR S Y2 T YT AH(L=72n)
10,000,000& = 1JH A 10,000
ORJDIZEZ2 HOIEESE FHHAL
30,000,000 = 10024 30,000
03 A& S THHI 2,264 1,315 949
02 L LN 2
314,366,000& * 0.72% 2,264
HelolZ2& &2 413,202 331,228 81,974
201 Ler24E] 7,380 7,920 A 540
01 At 2t 2l 7,380 7,920 A 540
O3& U S2XdEA S A= M=
10,0003 * 64 *» 75JH & 4,500
OOEO0I=0lAIE BIIANEBA =2
320,000& » 90 A& 2,880
206 M= Hl 2,327 2,327 0
01 =4l 2,327 2,327 0
O ol 22l M=l 2,327
oMy JlS = (100L)
1,770& = 100 = 78 « 128 1,487
(OF=FE~3p 10,0008 = 7 = 128 840
307 gl2tol & 32,609 26,050 6,559
05 BIZERI & 3 32,609 26,050 6,559
O0eolIs&d X&ol =24
388,200& * 78 » 123 32,609
401 AIEHI L 201 370,886 294,931 75,955
01 A& Hl 368,227 292,822 75,405
O oIS 2clAe 187,887




SN HRT SEMSHD
rn =

M ZBIA=A2
He: TASE L =XAId2e (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OO0 2 Z2IAL (M1, 230Ha) 97,464
-olE | = 930 * 2,400m" % 33| 6,696
Il H M = 320& * 20,125m * 33| 19,320
=S &K 1,950& = 1,070m * 23] 4,173
-S&3 S22 1,500& * 44,850 67,275
O02I0I2& 22lAH (M2, 229HA) 90,423
-0l = 930& * 2,200m * 33| 6,138
I A M = 320& * 17,500m = 33 16,800
=R SDN| 1,950& = 1,900m * 23] 7,410
-2 sz 1,500& = 40,050m 60,075
Q021032 W AIES S22l (450H4)
1,500,000& * 4501 2 67,500
O0elolzsd 23y 58,520
OR2efacly 4,200& * 2,200m x 33| 27,720
OZcHuA 28,000& * 1,100m = 13| 30,800
O0elolZ2& W =SHHIALE
28,0003 * 30 * 234 19,320
OF=0E0l=& HEE At
35,000,000& * 14 35,000
03 A& 20HY| 2,659 2,109 550
ONe0l=s& 222yl
369,237,000& * 0.72% 2,659
A5 22 29,830 36,045 N6,215
401 Al HIL 20| 29,830 36,045 N6,215
01 A& HI 29,510 35,659 N6, 149
OA~3& 22 ALY 21,510
OQlE = 930& * 400m * 33 1,116
OJIAH M = 320& * 3,850m % 33| 3,696
(OE=="PSPN 1,950 = 220m" = 23] 858
Os& s 1,500& = 10,560m" 15,840
OAZE W AIE&2 X2l (101 A)
800,000& = 1090 2 8,000
03 A& 20HHI 320 386 /\ 66
OA~Z2& 2el2uhl 29,585,000& * 1.08% 320
=XIAlE 22| 414,315 287,079 127,236
101 @121l 51,349 47,850 3,499
04 JI2ZtH22XNEE 51,349 47,850 3,499
oZZX4d & 2202y
57,990& * 49 » 200! 46,392
o422 = 4,957
O=30d=82=2 46,392,000& * 4.5% 2,088
O=0AHALRES 46,392,000& * 3.06% 1,420




SN HER SELSHD
u: =T 2L
S SAIBY ¥ sXALBL (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
SEFFPEEECEE]
1,420,000& * 6.55% 94
ONEEEESRES 46,392,000& * 1.5% 696
OdT Ml EE = 46,392,000 * 1.42% 659
201 L Er2 A | 600 1,836 A 1,236
01 At2 22l bl 600 600 0
o= SN S S A
10,000& * 60K 600
206 M= 4l 11,745 6,150 5,595
01 M= 4l 11,745 6,150 5,595
O=Xzel Mzl 1,995
oAk 10,0003 » 6 = 12)HE 720
OM 2|2 S (100L)
1,770 = 1000 = 6% = 12943 1,275
OJtZ2stedl =2 1,750
ORJlZdlE 15,0008 * 50% 750
O=gtdl & 20,0003 * 50% 1,000
OZDIY 2= 20,000&  100% 2,000
OZ0IY EA8 07 12,000& = 500= 6,000
5 Hia=ssS 2,000 1,000 1,000
01 tHaf=S 2,000 1,000 1,000
O=XAE W T2 4 1,000,000 * 2A 2,000
307 21201 A 27,951 21,708 6,243
05 QIZtRIE 3 27,951 21,708 6,243
O=sAEASBRY 2
388,200& = 6% = 128 27,951
401 AIEHI XL 2CHYI 320,670 208,535 112,135
01 A& dl 318,345 207,051 111,294
ON&EST Z2lAY 142,209
ON&=X AL (2B T) 28,165
= PA =S 930& * 3,100m = 23 5,766
-J1 A A = 3203 * 30,428m « 23| 19,474
—=HEI 1,950 = 1,500m" * 13 2,925
OAE=TIZ2lA S (ML) 60,622
-l M = 930& * 7,060m * 23] 13,132
I AW = 3203 * 63,539m x 23| 40,665
—=H &I 1,950 = 3,500m" * 13 6,825
OANE=TIZ2IAL (8342 7) 53,422
-l H = 930& * 6,317m 23] 11,750
Il A M = 320 = 55,666mM * 23 35,627
—=H &I 1,950& = 3,100m * 13 6,045
OUl=T 22lAe 73,150




SN HER SELSHD
=

gz ZF=sN2e

Sl TAIBY U =XALBL (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ONMER =X H= 43,900
-olE | = 930& * 15,000m = 23] 27,900
Il H M = 320& * 25,000m * 23] 16,000
ON&R =X &X
1,950 = 15,000m = 13 29,250
O=Y Z2 A 18,700
OMZEUHZL A 18,700
-1m LH 2 2,200& * 4,000m * 13| 8,800
-2m L 2 9,000& * 1,100m * 13| 9,900
O=zd, NsEd, L2l 22/Ag 25,786
Oz A2 ALY 15,590
-0l = 930& * 3,000m * 23] 5,580
Il AN = 320 * 6,500m * 23| 4,160
-2 =8 X 1,950& = 3,000m * 13 5,850
Onss & SLZel 22AeY 10,196
=P S 930& * 1,500m = 23| 2,790
=JIH N = 320 * 9,500m" % 23| 6,080
e RSDN| 39,000& * 34 * 13| 1,326
Oll=A ¥ S22 EAAH 23,500
OlUlsX 2AANH(2EZ 2 3 o)
5,000& = 3,500m 17,500
Os2d=cit L 2 BAAA (AMEBZ 2
2 =) 1,500& * 4,000m" 6,000
O=X W ==FHIAt
28,000& * 50 * 2504 4 35,000
03 A& 20 Y| 2,325 1,484 841
O=X A Zel20Hl  322,782,000& * 0.72% 2,325
el ZH(MNET SZ4TD) 135,025 113,227 21,798
ol 2| 93,437 73,723 19,714
jelals] 93,437 73,723 19,714
101 @1 21| 93,437 73,723 19,714
03 2IHALZZHE = 93,437 73,723 19,714
o33 &2 93,437
ods(or2) 25,670
-134 Xt 2,139,090& » 1H * 12& 25,670
odE(2) 23,486
-94 Xt 1,957,110& » 14 » 12& 23,486
OIFAH X & dl 175,0008 » 299 x 128 4,200
OZ &l 150,000& * 29 = 128 3,600
OuWEH| 150,000& * 29 x 12& 3,600
O&AxE 50,000& * 2%  12& 1,200




2N NER SELFHD
HH: BHSYAU(MRT SSNAXD)
Sel: o2y (B9 ®R)
. _ - =
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-/

OYEFIHHI(13E XH)

2,139,000% * 65% * 1% * 23l 2,781
OEE-ES/ICIEPY
1,957,1109 * 65% * 1Y * 23l 2,545
042 (13 1) 13,460
—2E 4G (13ER)
106,95080 * 1% » 122 1,284
~IZI2AY 171,0008 * 1Y * 122 2,052
-gzRay
171,008 * 1% = 42 128 8,208
-~ Rt 91,2008 * 1% » 212 1,916
O%2 (94 ) 12,335
-2HLG(9ER) 97,8508 x 1% x 128 1,175
~AZIE2AY  150,1008 * 1% * 122 1,910
-fUzRsy
159, 1008 * 1% » 42 122 7,637
-~ R 84,880 * 1% » 192 1,613
Om = 560
-xos 90,0008 * 2% 180
-0t M 3t 60,0002 * 2% 120
-29) 15,0008 * 2% 30
-3 3 15,0008 * 2% 30
-eats 100,0008 * 2% 200
41,588 39,504
41,588 39,504
L 20,078 19,074
JNESTEITT 17,068 16,064
O FEAHI (S 2H) 8,568,0008 8,568
oYge+HBS Il=HH| 8,500,000 8,500
02 222l 3,010 3,010
OSEMPNLLERN LERS 2,650
OS2 1,9308 * 7005 1,351
Ot 2709 * 3,0008 810
OSJets 1,6308 * 3008 489
HaJSXBel ¥ E/RE 60,0008 * 63 360
202 01 18,360 17,280
Lt o 18,360 17,280
©JI=ZH| 18,360,000 18,360
S x| 3,150 3,150
ERETSEESST 3,150 3,150
© 1% (302101 6t) 350,0002! * 12 3,150




N = 0 &8 AFH Y & A AN
SHT MRT HSD
M XM 22l
S s XYM 20 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
N AR 455,916 437,607 18,309
KA 22l 388,132 350,523 37,609
s XN 2 239,602 202,366 37,236
XN 280 & g8 239,602 202,366 37,236
201 et A | 218,086 200,850 17,236
01 AFR2t2l Yl 61,030 67,834 N6,804
OXNYLAM 2L =& 42,398
OdIIE DXNAM M L =4 20,546
-SE05H XA H&E Y =44
72,600& * 134X+ 944
-MNESXA DXAM HE YL =4
72,600& * Q04X+ 6,534
“MHAA DXAM HE 2 =
72,6003 * 1154 X} 8,349
-F0AH DM HE 2 =4
72,600& * 654X+ 4,719
Ozx=AlZ XM 72,6003 * 164Xt 1,162
OXNSIHHEY DXA M Y &
72,6008 * 224 Xt 1,598
OXg 10X A 72,600& * 184X+ 1,307
OAN 2l 2= DX A 72,600& * 254X+ 1,815
OXNEYA OS2 6,000
-XNgANEZ CtUH 2 100& * 30,000& 3,000
s 24 100& * 30,000& 3,000
OFSE 100& * 20,0000H 2,000
OUsE 200& = 5,0000H 1,000
O=2AEX 21,000& * 704X+ 1,470
O&H 220,000& = 2504 5,500
OXNYgM =82 14,547
OXNEANH B2 2= HE
230& * 4& x 5,0000H 4,600
O&IIZ NLAM 2Rt Z
100& * 20,000&f 2,000
Osl4+=a H& 70,000 * 93| = 7IHA 4,410
Og2tE H& 33,000& = 93| * 1104 3,267
oudsg 2tg 30,000 * 93| = 1A 270
ONHFTEEHI 223 4,085
O&EH 240,000& * 64 1,440
oed™ 940,000& = 1JH 940
O8 A DI 280,000& * 1H 280
OFI(EMRY) 440,000& * 104 440
OHYgEd 250,000& * 24 500
OEAEE 420,000& = 14 420




N = 0l & At & Ml A

fAMN: AETF MR

I XA 2el

S s XYM 20 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OHEUS 65,000& * 1JH 65
02 332494l 157,056 133,016 24,040
O RERRS(HIIE, =AE, N2, 2tUR) 154,320
Ot 270’ * 400,000= 108,000
OsII 1,930& = 24,000 46,320
OHF AR HEEl KA I 2,736
[@mE—s=y il 20,000,000& * 8% 1,600
O&E XK= A 3,200,000& * 3CH * 8% 768
O M A &I 2,300,000& * 2CH * 8% 368
202 04| 1,516 1,516 0
01 2L Y| 1,516 1,516 0
OXNSEHMIEIR ARG FHA0HYI
75,800 * 5 x 22 % 23] 1,516
405 XHo&HF S HI 20,000 0 20,000
01 JHMY 2 E F S H 20,000 0 20,000
OXNHZTEEHI 7Y 20,000,000& * 1CH 20,000
S80I JgH A 148,530 148,157 373
KA M = AT 148,530 148,157 373
201 Bt A H| 105,498 102,484 3,014
01 AtR 22l bl 31,988 33,254 N 1,266
OXNEM HE g2 FA 26,972
OMEANY DXNM M L &4
72,600& * 1204k X+ 8,712
O== IXAH HE L &=
72,600& * 604Xt 4,356
OMgete M 2 &
72,600& * 404Xt 2,904
OBMWHE +4+8 6000008 « 508 * 25% 7,500
OHASE 242 1,008 + 1,5002 1,500
028 2 WEMWR HEHE +42
2,000& * 1,000 2,000
ONMg& g2FA 228 2¢ 3,250
OoZglHe &Y 220,000& = 100K 2,200
O=2AEX 21,000& * 504 X+ 1,050
oNMEgwusgdLIN2t =8 1,766
(@)= 70,000 = 23| * 7O 980
og2rE 33,0003 * 23] = 11004 726
Ol & 2+Tt 30,000& = 23| * 1A 60
02 38244 73,510 69,230 4,280
03322 % MA 67,930
Ot 270 * 223,000 60,210
O8I 1,930& * 4,000 7,720




fAMN: AETF MR

I XA 2el

ool SEH0 MY 4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZXNE ALEE AEEZ
45,000& * 3CH = 128 1,620
OogsSHE AXANAE X =H
330,000& = 12& 3,960
202 O4dl 3,032 3,032 0
01 = LH 4 Hi 3,032 3,032 0
OZ2 & =0t 75,800& * 4% = 10 3,032
303 Z& 3 40,000 40,141 A4
01 Z&3 40,000 40,141 A4
(OFSECEPAE= 40,000
20148 = 0l ™ 389,000,000 * 5/100 19,450
Q20158 & 380,000,000 = 3/100 11,400
Q20169 & 915,000,000& = 1/100 9,150
HE2HIH (MM 67,784 87,084 A 19,300
Jl=&l 67,784 87,084 A 19,300
Jl=dl 67,784 87,084 A 19,300
201 Let24d] 27,824 29,624 A 1,800
01 At 22l 27,824 29,624 A 1,800
OJlegesdasZ 12,500,000 12,500
oolEa MY U BHMHM 2,724
oglgezg X § 7¢
11,0008 = 58 + 128 660
O&a H=7| 45,0003 * 200 » 12&8 1,080
QA LA ZIIHEI 42,0008 « 104 ~ 123 504
Oolas st=2ud 60,000& = 48 * 23| 480
OJIEZ I (SH!) 12,600,000& 12,600
202 044l 35,760 35,760 0
01 = LH o4 1l 23,520 23,520 0
OJIEZ 23,520,000 23,520
02 M0 12,240 12,240 0
OMEN=E== =F0HI
170,000& = 6 = 12 12,240
203 @R =&l 4,200 4,200 0
04 FEANSEHIE=LH| 4,200 4,200 0

OJIZ= (302! 0Idt) 350,000& * 12& 4,200




> A
A & 0l & AF 2 E A A
2N NER BN
M 9 JHRE OISLE2 TAEE =4
ool WS MEBHALM CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M sZe 4 4,560,724 3,452,015 1,108,709
oD RS otELR SAEE =4 1,187,960 546,447 641,513
WG MEEAXH 1,103,498 463,500 639,998
Hasgs =& 2,000 10,900 A 8,900
206 M= Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
oOMgESE 2= EH=&
200& = 10,0000H 2,000
Mo SEHEI &X 62,478 58,314 4,164
201 L4l 18,998 13,674 5,324
01 At 22l 7,150 7,490 A 340
OSESINEX 822 6,050
oMl S 2o
35,000 = 110 23S » 1004 3,850
OZAlJthiet s Z20®(H)
20,000 * 1004 200
OSHE MgolthEed 2=
2002 * 10,0000H 2,000
oMY D SHEI SHEE AMIEH Z2IH
e 220,000& * 54 1,100
02 232gHl 11,848 6,184 5,664
OZAIZtOIet 3l ALEZ
36,000& » 145l& « 128 6,048
O=285Il HAX stz FANE=
50,000& * 2004 & 1,000
OZAlItiet RXE =
5,000,000& * 12CH * 8% 4,800
202 odl 1,600 1,600 0
01 S LHOIYI 1,600 1,600 0
oMl EYHEI HAX 2H
20,000 = 2% = 40 1,600
206 = Hl 5,000 0 5,000
01 MHZ 8l 5,000 0 5,000
ONSRHUSIINY HaB2Y X4 5,000
OHQE 50,000& = 70& 3,500
OZEH 60,000& 10 600
o= 2,000& * 504 100
Ogzs &A= 2,000&  100<& 200
OJIEtR XM 600,000 600
301 et d = 1,680 1,440 240
NMIEEd= 1,680 1,440 240




SHT NRT SN
MM U WRE OIEUS TAIEHE T4
el MEE MEBHAXAY (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OZAIINCSHER FHIR2 QIABAZ(AEA)
10,000 = 1404 ~ 12€ 1,680
402 SI2FXHE0| & 25,200 21,600 3,600
03 QI2HCH &4 AF S HI 25,200 21,600 3,600
O2AIIIH IO M AEX RE L2
450,000 * 1400 = 43| 25,200
405 XHo&HF S HI 10,000 20,000 A 10,000
01 XAt 2 FF S| 10,000 20,000 A 10,000
O Z Al 2HOI 2t el 5,000,000& = 2CH 10,000
g 4 2 MY D =& 2t 1,031,670 358,626 673,044
101 Q124 H| 141,840 0 141,840
04 JI2ZtHIZ22NEE S 141,840 0 141,840
OB AIDA XoE 141,840
oorg 74,6802 * 6% x 262 x {1&€ 128,151
OAHedEgE==2 128,151,000 = 3.06% 3,922
OB EH2 3,921,000& * 6.55% 257
Oo=Z2oz82d=2 128,151,000 * 4.5% 5,767
[@INE=Jh=:R—g= g 128,151,000& * 1.5% 1,923
oM EsgE="2 128,151,000 = 1.42% 1,820
201 LBt | 313,745 279,561 34,184
01 AP 22| d| 17,405 17,038 367
OFAMYLRZFX 365
OXt e U 4,500€ = 3F * 2704 365
OUEHIIE LMY sl =288 Y
220,000 = 304 660
OUHEHIIE ADES 100€ = 30,0000H4 3,000
OUEmHII= a1 2oeZI| X
130,000 = 102FA « 204 2,600
OZEHNESETHA EX o 1,000& = 20004 200
Ox=HHE AEIAH HE 100! = 3,0000H 300
OHFBIAY AHDF LA 42
120,000 * 1 « 23| 240
oYX (2Y) HIIZS M™eldl 150,0008 * 20 3,000
OB SHEZ ! AIE2=
170,000 * 128 2,040
OUEHIIES Y Z2H =42
350,0008 = 12& 4,200
OFHAXIE &5 200,000 * 404 800
02 B232%H4| 296,340 262,523 33,817
ostBIIs=E X NSXHA 50,0008 = 104 50
OFAZLSE SUHEMERZ
70,000& * 200 = 12&€ 1,680
O X2 6,603




SHT NRT SN
M. 9t RS OIS0 TAIEE =4
el MEE MEBHAXAY (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O&FIZEAN =2 29,000& = 27CH 783
OZEZEA =5 65,000 * 12CH 780
ostdEEg= 120,000 * 16CH * 23 3,840
OFAINA HEEI BAF =2
400,000& = 3CH 1,200
OFAEH & X KA 287,047
OFAFY|I(JIZE222d) Sl
100,000& = 20CH 2,000
OFAXE KAl 285,047
-HAIHE . UE) 10,798,000& = 26CH 280,748
SIS (AE) 4,299,000& * 1CH 4,299
OFAJAMEH AMRA HI| KX
40,0008 * 204 = 128 960
206 M=l 31,085 28,465 2,620
01 &2 bl 31,085 28,465 2,620
OHFAEE 7Y 8,700
odl 2 1= 50,000& = 125 * 12& 7,200
OJs 4g+HEs Ot 1,000& = 1,5000H 1,500
OLHAEANI I 7Y 14,850
OAOIEE 2 Al 100,000 = 30 = 1504 4,500
OB Al 230,000& * 3CH * 1504 10,350
ostgzdAA PFSUYE £ 40,0008 * 205 800
Ot &2|d HNMESH 40,000& * 574 2,280
odtzsXs #+¢ 300,000& = 104 3,000
OBABE 225 A2E(HIwY 95)
15,0008 * 57K E 855
OB HBHAMRY YALSEE 7
30,000& * 204 600
405 XHaHFE SHI 545,000 50,600 494,400
01 M =S F SHI 545,000 50,600 494,400
OMEZE £x=){x2(5t) 120,000,000 = 3CH 360,000
OL-HAARZ(5L) 185,000,000& = 1CH 185,000
OFOIE AIRI2S &N 7,350 35,660 N 28,310
201 L2 A Y| 4,380 31,960 N 27,580
01 AP 22l Yl 4,380 31,960 N 27,580
OZ2HIE MY Dl BHEnNEs ZAY
40,0003 * 2% * 43 = 12& 3,840
O=2HE M| HEUH 28 A 29 540
@)=E==4 70,000& * 20H 140
OEEB=2= 5008 * 800H 400
206 T 2 bl 2,970 3,700 AT30
01 &2 bl 2,970 3,700 A 730
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2N NER BN
MM U WRE OIEUS TAIEHE T4
ol BAYAIMO e Bl CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ORIt HMHeIAlE HACHH dpEX |e(H
IR A Y R) 80,000 = 124X+ 960
OMRIGtEHMEIAlE HEAHAR2HA(LEHMHCIAIA
=2 2 22|28 AEH E)
100 * 1,00000 * 4= 400
OIIEZLHHEBAENZEZE I 2|
200,000 = 4™ 800
OIINIEZLHHBAENEEE HHS 2
200,000 = 4™ 800
OIIEZLHHEAE XM GHUHE
200 = 1,0000H 200
202 044 4,080 4,080 0
02 SN 4,080 4,080 0
O=AtH = & JMeldlx=XelAl&E NEEH =&
o Hl 170,000& * 2% « 128 4,080
206 M = dl 100 600 A 500
01 X2 bl 100 600 A 500
OANEM=E MY 1,000& = 10074 100
== delgt Al HA e 10,500 10,000 500
201 et | 500 0 500
01 AR 22l ] 500 0 500
OZelat&A EXE(AHl) 25,0008 * 2000 A 500
206 M = H| 10,000 10,000 0
01 X2 HI 10,000 10,000 0
OZelgda ARE 500,000 * 2000 A 10,000
SHAQLAEASE HISAE A 22| 23,303 21,884 1,419
SAQLH=ZE HIsg A el 23 23,303 21,884 1,419
201 LBt 9H| 14,162 11,162 3,000
01 AP 22| d| 8,423 5,963 2,460
OSHLLAANIDA LHAMH & HIIZX2 I
500,000& = 33| 1,500
OWIILLEZE ANESHFE Ueix=4=
270,000 * HIOHA = 23] 2,700
OMPIHIMOIK SHHY 48
82,300 * 4014 + QHKE 2,963
OHJIIES NEEHE ANAal
8,0008 » 10& = 12&€ 960
OBAZTIY LM 222
150,000 * 2& * 13| 300
02 22244l 5,739 5,199 540
OstFA=FAHl S 224l
200,000& * 35 * 13| 600
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